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Math ¢

Product of Powers

23 x 25
37x3
(4x4)x (4Xx4x4x4x4x4)
(5x5x5x5x5)x
(5x5x5x5x5x5x5x5)
69
Exponent Law for a Product of Powers: amxgn=gm+n a#0

To multiply powers with the same base, add the exponents. The variable a is any
integer, except 0. The variables m and n are any whole numbers.

Quotient of Powers.

QL

75+ 73
89 + 81 |
I2xXIXxIx9IXx9x9
9x9x9
10x10x10x10
10x10x10x10
113
Exponent Law for a Quotient of Powers: gnm+qn=gm-n a#0,mz=n

To divide powers with the same base, subtract the exponents. The variable a is any
integer, except 0. The variables m and n are any whole numbers; but m must be
greater than n.



Example # 1: Write each expression as a single power.

a) 85x87 b) (_4)12% (-4)

Example # 2: Simplify and evaluate.

a) 36x (-3)2 b) 92x 95+ 93

Example #3: Simplify and evaluate.

Q) 62+ 63x 62 b) (-10)4 [ (-10)¢ + (-10)4] - 102



Practice .

1. Write each product as a single power.

a) 7 x 7=
) () x(-2¥=

e) 79 x 7=

2. Write each quotient as a power.

a) (=3P + (37 =

3. Write as a single power.

a) Zx24x25=

¢ 103x 105+ 102 =

b) (4> x (—4) =

To multiply
powers with the
same base, add

d) 10° X 10° = the exponents.

f) (-3 x(-3°=

b) 56 =+ 54 =
To divide powers
8 with the same
d) _5‘6 = base, subtract
S the exponents.
y (6P _
D Cer ™
3 x 32
B) Sy =

" Which exponent
faw should you
use?

d) (=1 + (=1P x (=1)0



4. Simplify, then evaluate.

a) (-3 x(-32x2 by 99+ 97 x g0 =
See if you can use
the exponent
faws to simplify.
52 ' g5
<) i d) o X5 =

5. Identify any errors and correct them.

a) 4% x 45 = 48

b) 25 x 25 =225

) (—8)° + (=3)% = (-B)°

d) °x72="7

e) 62+ 62 =6*

f) 10 - 10 =108

g) 22 x 52 =10°




